22+0—7H

&R (842 mm)  Dimensions (mm)

2Z2kO—Yh—HAI> Y (2-STROKE ENGINES FOR CAR MODEL)

Engine Dimensions Chart

m % ltems B © E G H J S
0.S. SPEED T1203 11 52.4 81.5 26 29.4 68 UNF1/4-28
0.S. SPEED R2104 21 65.6 91.2 31.6 335 75.6 UNF1/4-28
0.S. SPEED R21EURO Spec. 21 65.6 91.2 31.6 335 75.6 UNF1/4-28
0.S. SPEED R21GT 21 65.6 102.1 31.6 33.5 86.5 UNF1/4-28
0.S. SPEED B21 Adam Drake Edition2 21 65.6 96.9 31.6 335 81.2 UNF1/4-28
0.S. SPEED B2103 Type S 21 65.6 83.8 31.6 33.5 68.1 UNF1/4-28
0.S. SPEED B2103 Type R 21 65.6 96.9 31.6 335 81.2 UNF1/4-28
0.S. SPEED 21XZ-BTY110% 21 65.6 98.6 31.6 335 83 UNF1/4-28
0.S. SPEED B21 TY2 21 65.6 84.3 31.6 33.5 68.7 UNF1/4-28
MAX-12TG Ver.ll 11 524 86.8 254 29.4 73.3 UNF1/4-28
MAX-R21 21 65.6 91.2 31.6 33.5 75.6 UNF1/4-28
MAX-21XR-B Ver.I 21 65.6 102.2 31.6 335 86.6 UNF1/4-28
MAX-21XZ-B Ver. I 21 65.6 102.1 31.6 335 86.5 UNF1/4-28

2Z28A—=9A\YF79—HIT>Y Y (2-STROKE ENGINES FOR HELICOPTER MODEL)

m % lems B © E G H J S
MAX-32SX-H RING 15 75 76 30.3 45.5 60.6 UNF1/4-28
MAX-37SZ-H RING 15 75 76.5 30.6 455 61 UNF1/4-28
MAX-50SX-H RING Hyper 175 85.8 925 36 52.3 74 UNF1/4-28
MAX-55HZ Hyper 175 76.6 90.9 36 42.85 72.6 UNF1/4-28
MAX-55HZ-R 175 76.6 90.9 36 42.85 72.6 UNF1/4-28
MAX-105HZ 25 85.5 100.7 43 42.9 79.2 UNF5/16-24
MAX-105HZ-R 25 85.5 100.7 43 429 79.2 UNF5/16-24
MAX-105HZ-R Super6 25 87.5 100.7 43 44.9 79.2 UNF1/4-28

22NA—IRITHAIT>Y Y (2-STROKE ENGINES FOR FIXED-WING AIRCRAFT)

m f Items B C E G H J S
MAX-T11AX 11.0 58.5 60.4 24.2 354 48.4 M5
MAX-11CZ-A 11.0 58.5 60.4 24.7 354 48.1 M5
MAX-15LA 14.4 63.7 61 24.8 30.8 48.5 M5
MAX-15LA-S 14.4 63.7 61 24.8 30.8 48.5 M5
MAX-25LAI 14 66.6 745 29 39 60 UNF1/4-28
MAX-25FX1 15 75.6 75.5 30 455 60 UNF1/4-28
MAX-35AX 15 75.5 77.4 30.6 45.5 61.5 UNF1/4-28
MAX-46AXI 175 84.5 85.1 35 52 67.4 UNF1/4-28
MAX-55AX 17.5 85.3 90.5 36 52 72 UNF1/4-28
MAX-65AX 25 93.3 99.5 40 54.1 78.5 UNF5/16-24
MAX-75AX 25 94.5 1034 42.6 54.1 81.4 UNF5/16-24
MAX-95AX RING 25 94.5 1034 42.6 54.1 81.3 UNF5/16-24
MAX-120AX RING 25 100.2 109.1 46.5 57.5 85.5 UNF5/16-24

4Z2~O0—7H
%R (42 mm) Dimensions (mm)
F
jB B
S I
GAD 5
T Bl
A2 MO—IRITHEEATYY Y (4-STROKE ENGINES FOR FIXED-WING AIRCRAFT)

m % ltems B © E G H J S
FSa-561 175 102.3 101.7 34 493 84 UNF1/4-28
FS-62V 175 102.8 105.1 34.1 51.3 87.5 UNF1/4-28
FSa-721 20 103.6 108 36 49.5 90 UNF1/4-28
FS-95V 25 1157 119 42.6 54 97.5 UNF5/16-24
FS-120SI 25 134.5 139.5 47 64.5 116 UNF5/16-24
FSa-155-P 25 127.6 138.6 47 64.5 114 UNF5/16-24

41




ZRHE & h—

rRATIVY

L

IV A X&TiEH
>t

AZNO—IRITHE 25ETVY Y (4-STROKE MULTI-CYLINDER ENGINES)

m & Items A B © D E F G H JJ S
FT-160 (Gemini-160) 68 56.5 23.5 196 120 50.5 63.5 54 — M5
FF-320 (Pegasus) 68 56.5 235 196 181.5 1125 125.5 76 62 UNF1/4-28
FR7-420 (Sirius7) 122 — S 230 158.5 — — — S UNF1/4-28
AR (862 mm) SHER (842 mm)

Dimensions (mm) Dimensions (mm)
G
FT-160 FF-320
e S T
G é\%}\ N2 /{}H‘
; | H
IV e S v 7~ N (A 2 LU |
IR\ éﬂ/ 1 %:g
g : H
11 ULjr-\ﬂu o 1 S ké%
‘ F—A—]
~HER (847 mm) ~HER (862 mm)
Dimensions (mm) Dimensions (mm) o i
3 © F ©
FR7-420 MAX-21XM Ver.I ' n
o |5 g §¢ =
N =

1495
183
)1 ) —2"<F>
GF ) —X~EE
~HER (842 mm) ~HER (842 mm)
Dimensions (mm) Dimensions (mm)
GF30
<l
105~119
i 98112
- T
N = <
(o]
N N
2] o 4-¢5.2 510
3 o2 / =
UNF 5/16-24 N 7 = ®
a P
© 2%
— I Nl
Fi @® ®
40 LL 765 50.1 454 41 786 | 399] 381 35| 35
145.6 70 1185 70
83.7

42



GT/GGT>V—X IIY

~HER (862 mm)
Dimensions (mm)

GT15

426

4a
|
|

112.3

AR (842 mm)
Dimensions (mm)

GGT10

87.8
o
©
UNF5/16-24 =
1| -
i 3 UNF1/4-28 [ SN
‘ | 9 = |
& [T =
35.8 66.8 | 39.4 el
142 27.5 60.4 42 ]
543 _25
SHER (&4 mm) HEE (86 mm) ol
Dimensions (mm) Dimensions (mm) 5%
GT22 GGT15 11 FTH o
=D~ | <0
]
al i i y
s
105.4
2
v
3
3 2-M4 -
™|
5/16-24 UNF-2A ©
UNF5/16-24 ®©
2 )
4 o
<
==
@
68.5 40 + %
179.5 35.8 66.8 | 39.4
142
SHER (842 mm)
=X v . .
T—':ﬁ. '(ﬁm mm) Dimensions (mm)
Dimensions (mm) GT_I SHZII
8 ol 2-M5
)
=i
AR
3 & 5/16-24 UNF-2A UNF5/16-24
o &
[ N N
S B
845 |404 | 4957/
196.6
~FER (#62 mm) SHER (842 mm)
Dimensions (mm) Dimensions (mm)
o
o ol
o 0|
32}
& e
9 UNF5/16-24

91.6
127.6

33| 33
66
85.6

=

21.

59.8 32

130.6

.”4 &
?(@ 5

&
4

7




FANSGT—I9R/BEY1LIY—

22MO—IRITHAIYY Y

g % FORSHAZ gaLsy— |
MAX-11AX TL—+A> : 8xd RL—F— ZK—Y : Tx4. 7x5 871A 385
MAX-11CZ-A TL—A> : 8x4 RL—F— RK—Y : Tx4. 7x5 871 37.0
MAX-15LA TL—+1> : 8x4 RL—F—-RK—Y : 7x5-6. 8x4-5 871 370
MAX-15LA-S TL—A> : 8xd ZAHVN-ZK—Y : 8x4-6 871 37.0
MAX-25LA I TL—4> x5 RL—F—-ZR— : 9x5-6 E-2030 62.0
MAX-25FX I ZR—Y- 2 : 9x5-6. 9.5x5. 10x5 892 62.0
MAX-35AX ZR—Y : 10x6-7, 11x6. 12x6 E-3080 83.0
MAX-46AXI ZR—Y 1 10.5x6. 11x6-8. 12x6-7 E-3071 108.0
MAX-55AX ZR—Y : 12x7-8. 13x6-7 E-3071 108.0
MAX-65AX w/E-4050 ZR—Y : 12x6. 13x6-7. 14x6 E-4050 1280
MAX-65AX W/E-4010A | Z/R— : 12x6. 13x6-7. 14x6 E-4010A 156
MAX-75AX ZR—Y : 13x8-10. 14x6-8 E-4040 178.0
MAX-95AX RING ZR—Y : 14x8. 15x6-8. 16x6-8 E-4040 178.0
MAX-120AX RING ZR—Y : 15x10-12. 16x8-10 E-5020 176.0

AZNO—IRITHATIYY Y

8B & FORSHAZ vaL— | o m
FSa-561 ZR—Y-ZFUR : 12x6-8. 13x6 27—l : 12x6-8. 13x6-7 F-4040 42.0
FS-62V ZR—Y -2V 12x6-7. 13x6-7 R —)L : 14x6 F-4050 44.0
FSa-721 ZR—Y - RGN R—)L : 12x7-8. 13x6-8. 14x6-7 F-5030 54.0
FS-95V ZR—Y-ZFVN : 13x7-9. 14x6-8 R7—)L : 15x6-8 F-5050 58.0
FS-120SI ZR—Y-Z&2k : 13x11-13. 14x10-11 Z7—JL : 15x8. 16x6-8. 18x5-6 F-5020 922
FSa-155-P ZR—Y-ZFUR : 16x8-12. 17x8-12 F-6020 95.0

AZNA—IRITHER TILFIVIS—TVIY

m f ZaRFHAL R
FT-160 (Gemini-160) ZR—Y -2 —)L : 16x8, 18x6-8. 20x6
FF-320 (Pegasus) ZAR—Y -7 —)L : 18x10-12, 20x8-10. 22x8
FR7-420 (Sirius7) ZR—Y- 2T —)L : 22x10-12. 23x8-12. 24x8-12. 26x8

2ZNO—RATHE JO0—HYUYIYIY GGTYY—X

B & FORFHAZ BALUHY— g"éz;)_
GGT10 ZR—Y-FH0- 27— : 12x7-9. 13x6-8 E-3071 108.0
GGT15 ZR—Y-FHO- 27 —)L : 13x8-11. 14x8-10. 15x8 E-4040 | 1780

2Z NO—ITRATHEE HYUYIVIY GTYU—X

B % FORTHAZ sqLyy— | S
GT15 ZR—Y-FHO- 27— : 13x8-11. 14x8-10. 15x8 E-4040 | 1780
GT22 TL—&1> : 15x10 RR—Y-ZFk 1 16x8. 16x10. 17x6. 17x8 E-5040 | 1326
GT33 TL—5+1> : 18x8 AK—Y-Z&>k : 18x10. 18x12. 19x10. 20x8. 20x10 E-5030 | 1875
GT60 TL—21> : 22x8 AK—Y-Z&VK : 22x10. 23x8. 23x10. 24x8. 24x10 E-6020 | 1780
GT120T TL—+1> : 26x12.27x10 ZK—Y-ZFK : 26x11-13, 27x9-12. 28x8-10

AZ NO—IRETHEA AV IV Yy GFYU—X

g % FORTHAZ PALH— g"ég)_
GF30 TL—2+4> : 17x8 RR—Y-750-Z7—JL : 16x10-12. 17x8-10. 18x6W-8 F-6040 | 1130
GF40 TL—o1> : 18x8 AK—Y-FHO-Z7—JL : 18x8-12. 19x8-10. 20x8-10 F-6040 | 1130

44



* ¥ %

E—9—9AXK

Dimensions Chart

*

*

o ”‘”ﬂ A &R (862 mm) Dimensions (mm)
o B
5 1 U ;
K
4 11 /50 | I
High Performance Brushless Molors I
N
(W {
o — S L
RITEAE€E—Y— HE G | HR
#E Model A B © D E F| G|HF| HR| I K L M N P Q R S
OMA-2810-1250 375|295 |2280| 175 |216.0| 20 | 20| 7.0 | 7.0 | 23 | 885 |M5x0.8| 19.0 | 16.0 [@40.0|233.0 3.1 [M3x0.5| ——
OMA-2815-1100 | 42.5|34.5|2280|17.5|016.0] 20| 20| 7.0 | 70 | 3 | 885 |M5x0.8| 19.0 | 16.0 |240.0|233.0| 3.1 [M3x0.5| ——
OMA-2820-950 465 | 385 8280|175 |916.0( 20 | 20| 7.0 | 70 | @3 | 885 |[M5x0.8| 19.0 | 16.0 |840.0{233.0| 3.1 [M3x0.5| ——
OMA-3805-1200 | 45.5| 30.5|837.0| 25.0 |220.0| 3.0 | 1.0 | 11.7 | 11.7 | @4 | 9.5 |M6x0.75| 25.0 | 25.0 |@50.0|243.0| @3.1 |M3x0.5|M3x0.5
OMA-3810-1050 50.5 | 35.5 [#37.0| 25.0 |@20.0| 3.0 | 1.0 | 11.7 | —— | 24 | 8.5 |M6x0.75| 25.0 | 25.0 |@50.0|243.0| @3.1 |M3x0.5|M3x0.5
OMA-3815-1000-W| 55.5 | 40.5 |@37.0| 25.0 |220.0| 3.0 [ 1.0 | 11.7 | 11.7 | 5 | 29.5 |M6x0.75| 25.0 | 25.0 [250.0|{243.0| ©3.1 |M3x0.5|M3x0.5
OMA-3820-1200-W| 61.0 | 46.5 |@37.5| 25.0 [22.0| 3.0 | 1.0 | 11.5 | 11.5 | 5 | 89.5 |M6x0.75| 25.0 | 25.0 |@50.0|243.0| ©3.1 |M3x0.5|M3x0.5
OMA-3820-960 61.0 | 46.5|237.5| 25.0 [@22.0| 3.0 | 1.0 | 11.5 | ——| @5 | 9.5 |M6x0.75| 25.0 | 25.0 [@50.0{@43.0| @3.1 |M3x0.5|M3x0.5
OMA-3825-750-W | 65.5| 51.0 |@37.5| 25.0 [@22.0| 3.0 | 1.0 | 11.5 | 11.5 | @5 | 9.5 [M6x0.75| 25.0 | 25.0 |@50.0(243.0| 3.1 |M3x0.5|M3x0.5
OMA-5010-810 63.0 | 46.5 [850.0| 34.0 |@27.0| 40 | 1.0 | 11.7 | ——| @6 | 9.0 |[M8x1.0| 30.0 | 30.0 |©68.0|@58.0| @4.1 |M4x0.7|M3x0.5
OMA-5015-650 68.0 | 51.5|250.0| 34.0 |@27.0[ 40 | 1.0 | 115 |——| @6 | 29.0 [M8x1.0| 30.0 | 30.0 |#68.0{258.0| @4.1 [M4x0.7|M3x0.5
OMA-5020-490 725 | 56.0 [850.0| 34.0 |@27.0| 40 | 1.0 | 115 | ——| @6 | 9.0 |[M8x1.0| 30.0 | 30.0 |268.0|258.0| @4.1 |M4x0.7|M3x0.5
OMA-5025-375 78.0 | 61.5 [850.0| 34.0 |@27.0| 40 | 1.0 | 115 | —— | @6 |29.0 [M8x1.0| 30.0 | 30.0 |@68.0/@58.0| @4.1 |M4x0.7|M3x0.5
KEERRTUE U, EERDDIREICEDET,
| E—9—2ARvI%E
B B s OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA- OMA-
2810-1250|2815-1100 | 2820-950 |3805-1200|3810-1050|3815-1000-W|3820-1200-W| 3820-960 |3825-750-W| 5010-810| 5015-650 | 5020-490 | 5025-375
® # 14 14 14 14 14 14 14 14 14 14 14 14 14
E g 51 66 80 76 102 134 160 160 195 234 295 350 405
Y—Rig R& mm 40 40 40 50 50 50 90 90 90 110 110 110 125
Y—RiR K& 17AWG 17AWG 17AWG 17AWG 17AWG 17AWG 17AWG 17AWG 15AWG [ @0.38x16 | ©0.38x20 | 20.38x20 | @0.38x20
mE S mm 8% 35 35 35 35 Bi5) 35 35 8% 4.0 4.0 4.0 4.0
EREE \% 11.1 11.1 11.1 11.1 11.1 11.1 111 11.1 14.8 14.8 14.8 22.2 25.9
ERER (37) 14 18 22 20 30 35 40 40 40 45 50 50 50
BRAER () A 20 25 30 30 50 60 75 70 75 80 85 90 90
\ATER A 0.6/10V 0.7/10V 0.9/10V 1.1/10V 1.1/10V 1.1/10V 1.9/10V 1.7/10V 1.5/10V 1.8/10V 1.5/10V 1.5/10V 2.0/10V
THRIET mQ 94.0 69.0 720 65.1 51.3 36.5 214 26.7 31.0 245 20.0 23.0 275
WBE1Y59992A| uH 30.0 23.0 24.0 52.7 31.6 23.8 11.5 15.3 21.0 27.4 25.0 33.0 43.0
BAME % 75 F 80U+ 8011+ 801+ 8551+ 85t | 85k 8ot | 85uE 8551+ 855 F 8511k 851k
KV{& rpm/V 1250 1100 950 1200 1050 1000 1200 960 750 810 650 490 375
HBEW T 22 16 14 34 22 16 10 12 12 20 16 16 16

@ ER(IARVF&I—RRA)

700-800975AEBENYITY—H5RA 3D/F3CHHT FLRAE—5—

~+35B (842 mm) Dimensions (mm) | E—I—HYA AR/ ARYIER |
OMH-5825-520 e At E B | &f1 | OMH-5825-520 | OMH-5830-490
2 2lE D % = mm 258 258
ﬂ @ HERS mm 54 62
B % 10 10
| ﬁ ) v7hER mm 26 26
1 o)

| o = JrTRES mm 40 30
ﬁ B g 525 600
E J—K@ EE | mm 110 100

U—Rig RS 20.38x14 20.38x14

30 ORI9%4 mm tExL FERL
OMH-5830-490 5 o EREE v 44.4 444
TRER (39)| A 100 100
% BXER (5W)| A 150 150

BEFER A 2/10V 3.1/10V
o Wﬁ@ St 1ARIER mQ 15 14
V&(ﬁw WE>575va | uH 26 25

4-M4x0.7 RAE % 851 F 90U k£
iég KViE rpm/V 520 490
L BEH T 12 12

45



F3ARBEATE—Y—95902ay/J1LI7hE—5—

[OMR-4043-165 | F3 A

BRUSHLESS MOTOR FOR F3A COMPETITION

%R il mm) Dimensions (m
~HEE (861 mm) ensions (mm) PTEy hy
Rear Mounting Plate Set

YYaAYF1—7

77[] 0l D Silicon Tube
Mounting holes H S o 2\ 2
dividing a circle into 8 Mounting holes ? % q 8 8
Mounting h I 7R dividi ircle into 4 g H o =
Gidng 3 orci nto 8 8545 M3x0.5 we @SR eI 3
R P.C.D. 70 4%4)-M3x0.5 % ﬁ 2
8557-M3x0.5 HRAF7R Mounting holes P.C.D. 50 5
P.C.D. 62 4%4-M3x0.5 dividing a circle into 4 / gy {7t Mounting holes — 8.5
824 -M4x0.7 dividing a circle into 8 LI Q] P ‘
- U
M8x1.25 (] P -
D T @ 5 §
M4 57 2 h @
M4 Tap /] '7 g @ E—5—BUIN
T7 5 ° Motor mounting holes
(| | —
L U &
E 3
L
Ay kXYY KB {ERAK TOY YUY RA ERR 12 44
with the Front Mounting Plate-B with the Front Mounting Plate-A 28.9 16.1 56 81
45 137
[OMA-4043-1160 | | E=9—U5IYaV&E—I—YAXR/ANVIE |
1HE H Bfi | OMR-4043-165 |[OMA-4043-1160
~FER (82 mm) Dimensions (mm) 5 = Ty W60xH89 %1 2395
KERE mm 137 %2 81.0
B 4 4
Iy 7hEE mm 28 25
IvI7hRE mm 45 %3 21
g E E e 630 390
@l © Y—Rig RS mm 110 110
& U—R#g K& 20.38x15 20.38x15
@ © IFIHN mm FEEL AREL
& EREE \'% 37 37
ERER A 80 80
. RAER GB)| A 125 125
81
102 J\EWHER A 1.9 1.9
RIS mQ 132 13.2
WR1V579Z | uH 18.9 18.9
BAE % — 92 k
KVi{E rpm/V 165 1160
BEH T 3 3

X1 JAOVMNIVRERS %2 YOVRNE~E—Y—%iE X3 YOV NE~Y T Nk

| OMA-6030-220
E—F—ARYIER
AR (842 mm) Dimensions (mm) B H BfL
[ 28
1 E E g 675
; U—Rig RS mm 110
© P.C.D. 4-M3-70 f/ U—Rig A& 20.38x9
_ o PCD.4aM362 15 aRTYY mm | fHEEL
3 [D ]ED q| P.CD.4-M3-541 b ——
:“B \' EREBE Vv 37
) ERER (39) A 70
BRER (58) A 90
l3 s | BEEER A | 1.1/10v
T 70 16 30 RS mQ 28
B W59V | uH 27
BRRME % 855 k&
KV{B rom/V 220
s 1 e

048 *EE(U—RRA)




	P41_cs4
	P42_cs4
	P43_cs4
	P44_cs4
	P45_cs4
	P46_cs4

